L e ] » (Y L]
d
| | r

=7 BEZ | BBIENM | c | = | O | =
1 AOADS—H— |EEAW | 684 | 1|2 | o | 2
2 LATY—-0O hEgEh | 606 | 2 | 1 1
3 Sy¥—K53> |&WIER | 524 | 3 | 3 4
4 | 5 [29—FrPooA> |mEaE | 488 | 8 | 8 3
5 I/UN-Y1 |BILRTE | 483 |4 |5 6
N e P SSMES | 482 | 7 | 9 7
7 Bllly—s720-+ |@FEts | 475 | 5| 4 9
8 1ZE/—b %FFR | 462 | 6 | 6 5
o | 1 |7o2 =ESE | 437 | 9 | 7 10
10 2)-77v55- |wisn  |[NS88H 10 | 10 8
Nk
™ o ¥200 4-5-9 ¥2,540
4-9 ¥260 9-4-5 ¥6,860




: 1) 43R2R [RF
- C | 2 |C =
) S FIARmTA) =HRE i s 1
2 EF55vh $KkAX— | 605 | 2 | 2 2
3 Aty mEHEH | 55.8 | 3 | 4 5
4 | 1 |[LYFIIU-Fx |FEREX#E | 50.7 5|5 3
5 EEMYATA— THEMA | 490 | 4 | 3 8
6 | 5 |RAFPIT4 SHIEZ | 449 | 6 | 7 6
7 EPLZAN-5— |#Fltl | 446 | 7 | 6 4
8 WUN=SUNIhhA s | 42.6 8 | 8 7
9 ANUAS—A SHEE 9 | 10 9
10 FETAS #FFR | 404 | 10| 9 10
N
44 2 6 ¥260 : 1-6-7 ¥1,110
6-7 ¥290 6-7-1 ¥3,610




j 1) £3R3R [RE
: C | = |ofk |2
1 DFIAVTY EREsAE | & |2 7
2 {9557 TEHA | 573 | 2 | 3 3
3 | 1 |7YIb412k— AR 55.8 3| 4 8
4 LA K~ |DIEEE | 55.0 | 5 | 7 6
5 J=5YEUF SHEZE 53 3 4 | 5 5
(N 6 ESFLV SUIE® | 484 | 7 | 9 9
7 PU-IFNF | REH 47.0 | 6 | 1 1
8 RUNYHFTF—H— FERXAin | 41.5 9 | 8 2
o [l|s7nzs>y  |xmm=E | 404 | 10 10 10
10 | 5 |F/HO0-X EmaER | 8389 | 8 | 6 4
IhRE
w1 7 ¥300 [EC 2-7-10 ¥13,990
7-10 |¥11,820 7-10-2 ¥91,090




’ 1) 23R4R [RE
- C | 2 |C =
1 91k SHER 11|01
2 | 5 |IAA-FIx3I)N |SHRS 59.2 i 2
3 ECE7VAMOSa iRl | 545 | 4 | 3 8
4 EPAYNTSAL |BEE | 500 | 3 | 4 7
5 | 1 |A—=>F4bPU7 |ZaAREK— 49.6 5| 7 6
6 byis(v— |$MEE | 457 |8 | 8 4
7 ALA3v A B = | 44.1 7|9 9
8 SLYWAA MEME | 433 | 6 | 5 5
9 Ffﬂ E-FT7N—-2 |BIR¥E | 424 | 9 | 6 3
10 | 157728 wEE | 40.8 | 10 | 10 10
Ih\RE
a1 > v110 Bl 2-5-10 ¥3,520
2-5 ¥230 2-5-10 ¥5,670




= C | 2 |C =
1 D I-SrA | & | 2 4
2 TR SHEE 57.7 3|1 5
3 NIHOPYTI  |EEsA | 56.7 | 2 | 3 2
4 I(3d-AY  |¥En 520 | 5| 5 1
5 | 5 (9ZAT7hoF EHS 49.7 | 4 | 4 7
6 AYYA—-TA AKX — 40.5 7 | 8 6
7 JAEHJ7 BIIRTE | 405 | 6 | 6 3
8 | i|YaniT 8 | @ 8
IhWRE
1 ¥1,310 1-3-4 ¥8,650
1-3 ¥1,680 1-3-4 ¥41,400




=2 SEL | BBIEM | C | & | 0k | =R
1 [ 9957144720 |E0ER - 1101
2 JIAR—A4vr |#mE=E | 557 | 2 | 2 4
3 1 (a3 UPR SHEE 53.0 4 6 10
4 FYvo5a1E8— RS 50.4 3 3 2
5 N EvaINn—b BEshE 47.8 10 | 10 6
6 FR-1 hE&El | 478 | 5 | 5 8
7 IAMRAN WEE | 474 | 6 | 4 7
8 YONTSIR  |IREBAMY | 452 | 7 | 7 5
9 5 |¥Fo45-4vb iEHEETK 42.2 9 8 3
10 0v>Fyo94h |FEAR (1898 8 | 9 9
Nk
2z 6 ¥110 2-5-6 ¥8,390

2-6 ¥530 6-2-5 ¥14,870




z C | &2 |LC =

1 |9V IA—FTE— | 1 2 4

SWN-275  |Emee® | 55.8 | 3 | 3 .

CNZD-gany |(sAkk— | 549 | 2 | 1 6

HoSvD4—> =HlETR 51.8 4 5 2

NANMZPAS |BLWRT | 448 |5 | 4 5

WrLos7 BEPAM | 43.9 | 6 | 7 8

AIVF S 43.5 ya— 3

5 |7yI1339 8 8 7
IWNRE&

EH 2 ¥340 B {E 2-4-7 ¥7,070

2-4 ¥2,000 p R 2-4-7 ¥25,020




: c | = |of |z
1 Kows4530  |EHEES | 1] 4 2
2 | 5 |[FLYRAT—%A |FBth | 59.2 | 2 | 5 4
3 BENOAYFPUIN  (FEXE | 59.2 | 3 | 3 5
4 |1 |n-tu-7 AT g 6 | 7 8
5 (CU|JL/MIYys  |HBEEaE | 489 | 5 | 10 B
6 SAYLAVR—  |&%AX— | 479 | 4 | 1
7 B |u—ko91=>7 |wemes | 474 | 7 | 6 7
8 IJ09L1F MRS 45.7 8 | 8
9 AR A — AR 9 | 2
10 Yyt pI—1d A (859 10 | 9 BGH

Nk

HH 8 10 ¥230 7-8-10 ¥5,100

8-10 ¥390 10-8-7 ¥14,420




Ia

C | =%

8 PVEyIMI ] 1|1 1
¥I755T734F hARFAES 58.1 v 3
JA4INTa IimA | 56.3 | 3 | 4 F
FAFPE— SHEE 53.3 4 '3 2

N T(YYY1-1 |[ZERE | 489 |5 | 5 9
|ktvznnsr  |EEAm | 489 |6 | 6 5

CNJ4VhAIP  |FRERAE | 428 | 7 | 7 6
FIRY RS 404 | 8 | 8 8
AY—bPUAY 9|9 4

8 ¥270 2-5-8 ¥510
5-8 ¥690 8-5-2 ¥2,830




= C | 2 |C =

1| 1 (9U=2AL1AE jIfEEEE =S 1| 1|0 | 4
2 LEDZ ¥a% | 574 | 2 | 3 1
3 | 5 [PIYHD hEgEth | 534 | 3 | 2 6
4 AY—-IVER |EEAW | 494 | 4 | 6 3
5 F2A4h7F—) |RHEE 47.5 6 | 5 2
6 N ITIAT(9)y) |SHIEE | 46.8 | 5 | 4 5
7 KB weEt | 430 | 7 | 7 7
sAhA— 8 | 8 8

4 ¥510 LS 2-4-7 ¥21,860

2-4 ¥5,060 p R 4-2-7 ¥93,890




Iad

C | &£
PIKS7E—5 |hEgEt 2 | 2 5
FARU—LE—F |[EE= | 624 | 1 | 1 2
PYKSYHA5— |BILRE | 52.6 | 3 | 3 3
ENJxT -7 =lER 50.6 5 4 6
FNIAYNSA |MESBE | 504 | 4 | 5 4
| (51H-K51Y  |wm | 434 |6 | 7 1
N syonyqy-  |EEER | 399 | 7 | 6 7
VAf3auASTY  |ERAW 8 | 8 8
8 ¥5,370 3iEiE 1-7-8 ¥3,190
1-8 ¥5,680 3k 8-1-7 ¥42,500




== L]

|
A
| | 1r

5£ ﬁ“&#ﬂ EEJEH - - O | &

1 FTEHIFA SHEEA B 1 | 1 5

2 JUYT1iy71iy |(fBFREM | 649 | 2 | 2 2

3 SAVYEVRSAY (EHRA | 520 | 5 | 5 3

< 1 (N8> hSaeth 51.9 3 3 1

5 d-IFN7P— | SHIER 48.9 4 | 4 4

6 | 5 |/\JHLPNEAL |FERKH 48.4 7 | 8 7

7 NATLAT =HEERX | 47.5 | 6 | 6 ik
M 10 SSHESE | 435 |10 10
9 £/)00-LA5— |#nKREK— 42.3 i1 | 9

10 P ERJSVvIN Y SHRE 41.3 9 | 11 10

s - =T :

£ | ¥750 1-2-9 ¥7,140

1-9 ¥1,270 1-9-2 ¥35,000




